Applications

Strategy for Solving Related Rate Problems

|

Draw a picture and name the variables and constants. Use t for time.
Assume all variables are differentiable functions of ¢.

Write down the numerical information (in terms of the symbols you
have chosen).

Write down what you are asked to find (usually a rate, expressed as a
derivative).

Write an equation that relates the variables. You may have to combine
two or more equations to get a single equation that relates the variable
whose rate you want to the variable whose rate you know.
Differentiate with respect to t. Then express the rate you want in terms
of the rate and variables whose values you know.

Evaluate. Use known values to find the unknown rate.
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Home work

Solve problems 13-39, page 177-178



